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13 it OX VS 1 iR®IZFRA
H= A=
HRFOR SERE=Y SERE=Y HRFOX
it : BE4T R MRIE it : REAZR K : iR
SV 7 aE & R 7 - Wt
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT -1 -50 1t 3NT +1 430 10
2 | Bt 7g 6S +1 |[-1010 7g 6S +1 [ -1010
3 ,?ﬁ 1t 3D = 110 [ri] 4H -1 100
4 E=] [£3] 2H +2 170 ® INTX -1 200 1
5 it [ri] TNT = -1520 ® O6NT = -990 11
6 panyiic] 1t 3NT = 400 1t 3NT = 400
7 E=] [£3] 3NT +2 660 [£7] 3NT +2 660
8 TS 1t 3NT +3 490 [£3] 6S = 980 10
9 panyiie] [ri] 4Sx -2 500 1t 3D +1 130 9
10 | WHB 1t 4H = 620 1t 4H -1 -100 12
DATUMiT T
EFOX iw=YIZFRA Y. X+ 21 32
ERLT /2N 13 SREAZE/PRZIK -6 Aait 21 32
FREa /P& 6 WIR/EES 13 V.P. 6.28 | 13.72
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it : B R . Z=JkEE 1t : sKEse K. &&54YE
BA RS 7 : IR B 1RE 79 : K 1ET
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT = 400 [£3] 3NT = 400
2 it [ri] 4S +3 -510 [ri] 6S +1 |[-1010 11
3 panyiie] 1t 4Dx -2 -300 [ri] 4H -2 200 11
4 WE=] x INT -1 100 [£3] 3H +1 170 2
5 it x 6NT = -990 ® 6NT = -990
6 panyiic] 1t 3NT = 400 1t 2NT +1 150 6
7 WE=] [£3] 3NT +1 630 [£7] 6C = 1370 12
8 TS [£3] 3NT +3 490 [£3] 4S +2 480
9 panyiic] 1t 3NT +2 460 1t 3NT -2 -100 11
10 | \WHB 1t 4H = 620 1t 4H +1 650 1
DATUM% it iFEE
I HREFKEA ZTEIBRPA r. 5] 28 | 26
EBNFRHE 7 SREHE/IREE 2 Ait 28 | 26
Fat=sa Ly VIES -2 ks /PR -7 V.P. 10.77 | 9.23
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x| | R | m | R | mee| e | 2 |er axe| 20| T

1 TS 1t 4S -1 -50 [£3] 4H -1 -50

2 it [ri] 4S +3 -510 x 6S +1 | -1010 11

3 panyiie] [ri] 3H +1 -170 [ri] 2H +1 -140 1

4 PWE=] x INTX -2 500 [£3] 4H = 620 3

5 it [ri] 7S -1 50 ® 6NT = -990 14

6 panyiic] 1t 3NT = 400 1t 3NT = 400

7 PWE=] [£3] 3NT +3 690 [£7] 3NT +1 630 2

8 TS [£3] 4S +2 480 [£3] 58S +1 480

9 panyiic] 1t 5Dx -1 -100 1t 3NT +1 430 11

10 | \WHB [£3] 5H -1 -100 1t 4H +1 650 13

DATUM%tit iFEE
HiElkE FREF y. S+ ] 27 | 28
FRE/BEZE -5 ENE/RICHE -2 Aait 27 | 28
MIB/MEFE 2 Z=4B\h/Z=3iE 5 V.P. 9.61 | 10.39
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +1 430 [£3] 3NT -1 -50 10
2 it [ri] 4S +3 -510 [ri] 5S +2 -510
3 panyiic] [ri] 2H = -110 1t 3C -1 -50 2
4 PWE=] [£3] 3H +1 170 [£3] 2H +2 170
5 it [ri] ONT +1 | -1020 75 O6NT = -990 1
6 |FHALl & 3NT | +1 430 [£3] 3C +1 130 7
7 PE=] [£3] 3NT +3 690 [£7] 3NT +3 690
8 TS [£3] 4S +3 510 1t 3NT +3 490 1
9 panyiie] 1t 5D -2 -100 1t 4D = 130 6
10 | \WHB [£3] 3NT +1 630 1t 4H -1 -100 12
DATUMSit T
BiSip—PA BREEPA Y. X+ 30 9
Ef S O SnsE/HE -27 ait 30 9
ZBREN/#75edE 27 EGE/EEET O V.P. 16.18 | 3.82
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT = 400 [£3] 2NT = 120 4
2 it [ri] 4S +3 -510 [ri] 4S +3 -510
3 panyiie] [ri] 3H = -140 1t 4C -2 -100 1
4 E=] [£3] 3H = 140 [£3] 4H = 620 10
5 it x O6NT = -990 75 ONT +1 | -1020 1
6 |HAL i1t 3NT | +2 460 [£3] 3C +1 130 8
7 E=] [£3] 3NT +2 660 [£7] 3NT +2 660
8 TS [£3] 2S +5 260 [£3] 6S = 980 12
9 panyiie] [£3] 5C +1 420 x 4D -3 300 3
10 | \WHB 1t 4H = 620 1t 4H = 620
DATUMSit T
iIFSRIEPA PSSR Y. X+ 19 23
SR/ 5 5o 7 PEPINE 7 i 16 ait 19 23
NI -16 CIANGTEZIR -7 V.P. 85 | 115
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 4H -2 -100 1t 3NT = 400 11
2 it [ri] 4S +3 -510 x 5S = -450 2
3 ,?ﬁ [ri] 3H +1 -170 [ri] 2H +1 -140 1
4 PWE=] [£3] 4H +2 680 [£3] 4H = 620 2
5 it x O6NT = -990 ® O6NT = -990
6 ,?ﬁ 1t INT +3 180 1t INT +2 150 1
7 WE=] [£3] 3NT +1 630 [£7] ANT +1 660 1
8 TS 1t ANT +2 490 [£3] 6S = 980 10
9 panyiie] 1t 3NT +1 430 [£3] 3NT -1 -50 10
10 | \WHB 1t 5H -1 -100 1t 5H = 650 13
DATUMSit T
®EHES iR EPA Y. X+ 13 38
T TBYES -12 XIZ1E/BFEM 17 ait 13 | 38
mE=/XFEH -17 (Srsy Y VAN 12 V.P. 3.03 | 16.97
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | 4s | 2 | -200| & | oanT | +1 | 150 6
2 |mdtl & | 4s | +3 | s10] & | 4s | +3 | 510
3 || /® | 21 | +2 | a0 46 | 4c | 2 | -100 2
4 |wsl &8 | 3H | +1 | 70| &= | aNT | 2 | 200 ]| 2
5 |gbl & | eNT | +1 |-1020f & | eNT | = | -990 1
6 |mE| 4t | 3c | +1 | 130 | & | ac | = | 130
7 |wal &8 [ anT | +2 | 630 | & | anT | +1 | 630
8 |wx| m | s | = | 9so| @ | 5s | +2 | 510 | 10
o || 46 | aNnT | = | 400 46 | 30 | = | 120 7
10 |wal 4t | 4H | = | 620 | 4t | 4H | -2 | -100 | 12
DATUM&iit iFE
RRRETFPA IREEITD 7. X ] 31 9
BE/RES 1 ES/EERE 27 &it 31 9
EmiER/iEE 27 EHh/=5=iH 1 V.P. 16.39 | 3.61




BREEE (BTHER)

%20 8 R 2016411 724H
7 KR VS 2 B&EGIIEA
H= A=
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e — 74 - i & Bt 7 - 3k
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT = 400 1t 3NT = 400
2 it [ri] 4S +2 -480 [ri] 6S +1 | -1010 11
3 ,?ﬁ [ri] 3H -1 100 [ri] 4H = -620 12
4 E=] [£3] 4H = 620 [£3] 2H +2 170 10
5 it [ri] ONT +1 | -1020 75 O6NT = -990 1
6 panyiie] 1t 3NT = 400 1t 3NT = 400
7 E=] [£3] 6C = 1370 [£7] 5C +1 620 13
8 TS 1t 3NT +3 490 [£3] 6S = 980 10
9 panyiie] [ri] 4S -2 200 [ri] 3S -2 200
10 | \WHB 1t 3NT +2 660 1t 4H 1 -100 13
DATUMSit T
ek kAR EFEAFA & | » | u
RE/E—F 39 REER/ERE 22 ait M
ST AR /ERER 22 XL /3 el -39 V.P. 20
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it : 258 IR 2T it : FE% IR : SR
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT -1 -50 1t 3NT -1 -50
2 it [ri] 4S +3 -510 [ri] 6S +1 |[-1010 11
3 |mE| & | 2H | +2 | 190 \ | 2H | +1 | -140
4 PE=] [£3] 4H = 620 [£3] 2NT -1 -100 12
5 it [ri] 6NT = -990 ® 6NT = -990
6 panyiic] 1t 3NT = 400 1t 3NT +2 460 2
7 WE=] 1t 6C = 1370 [£7] 6C = 1370
8 TS [£3] 58S +1 480 1t 3NT +3 490
9 g 1t 5Dx -1 -100 1t 3D +1 130 6
10 | \WHB 1t 4H = 620 [£3] 4H = 620
DATUM% it iFEE
THEBER B8R —RA r. 5] 23 8
EEHU/AKGREE 13 FER/ % -8 Aait 23 8
ARSI/ SRR 8 ZTH5E/ FRIS 13 V.P. 148 | 5.2




